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Instructions :

vii)

viii)

All questions are compulsory.
This question papcer has two Parts - Part-4 and Part-B.

Part-A consists of 20 multi}')lc choice questions of one mark each that
have to be answered on OMR Answer Sheet by darkening completely the
correct circle with blue or black ballpoint pen.

For Part-A read the question-wise instructions and mark your answer on
the given OMR Answer Sheet only. Do not erase, cut or use whitener on
the OMR Answer Sheet after answering,

Marks of the questions are mentioned against them.

Part-B consists of dcscripﬁve type qucstioﬁs of 50 marks. There are
Descriptive-I, Descriptive-II and two map related questions in this part.

All the questions of Part-B are to be attempted all at a time.

Start from the first question and go up to the last question. Do not waste
your time on the question you cannot solve.

Attach firmly the supplied maps in your answer-book.

For visually impaired examinees Question Nos. 9(A) and 9(B] have been
gwen separately for writing answers in lieu of map work.

m A
PART - A

( gfaseda W )

( Multiplé Choice Type Questions ) |

f2sr ﬁﬁqmuﬁ%mm%mﬁmmwﬁlﬁﬁﬁwaﬁ OMR

o o W fafga

Instruction : Four alternatives are given for each of the following questions.

1.

Choose the correct alternative and mark on OMR answer sheet :

e H I B

(A) 178830 # (B) 1789%0®

(C} 1790%F (D) 178730 H ]
French revolution took place in |

(A) 1788 A.D. (B) 1789 A.D.

(C) 1790 A.D. (D) 1787 AD. - 1
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AT, 78 ITAT % EF HA § ?

W EERE e B) e |
(C) WE =g g | D) g% 9 |

Who was the author of the novel "Ananda Math" ?

(A) Bankim Chandra Chatterjee (B) Rabindra Nath Tagore

(€} Sharat Chandra Chattejee (D} ~ Subhash Chandra Bose 1

foar =R e (W) i s favm a1 o 2

&) 1991 | B) 1994

(C) 1992 (D) 1995 1
“In which year was the World Trade Organisation (WTO) founded ?

A) 1991 | (B) 1994

(C) 1992 ' (D) 1995 _ 1

it 3 e e o a SR

@)  TEmd | ‘(B) @ e

(C) MR Ste - (D) FUTER 1

Which book was written by Jyotiba Phule ?

(A) Gulamgiri© (B) Women's Religion

(C) Amar Jeevan - (D) Katha Sagar , | 1

w1 ¥ Afast few & Fn Ao 2 2

(A) T G fee

(B) &l T FTerTIeaTd! o |

(C) T, aawrﬁmamm%mé;aﬁawww

(D) ¥ 3l T TR F Fe FH A 1

What is meant by horizontal distribution of power ?

(A) Federal distribution of pdwer

(B) Separation of distribution of power _

(C) The divigjon of power among the executive, the legislature and the

judiciary

ts 1
(D) The distribution of power between central and state governmen
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6.

Pt 3 @ a1 HH T T R 2

&) R ) i

() Fmrem 2w WD) T-FE

Which one of the following is not a federal state ?

(A) Manipur (B) Tripura

(C) Himachal Pradesh o (D) Jammu and Kashmir

(A) uﬁm@ém'«r{fﬁm
(B) TH UY U ud # favare fopar wmen @ |
(C) ue wgEEs o % i B A e @

“e(D) mﬂuﬁﬁwmm%

In a secular state there is

(A) no place for religion

(B) bclief in one nation and ‘onle religioﬁ .

(C) recognition_of only the religion of the majoritjr class

(D) treatment of all religionis equally

| T ool ¥ we S Rat E 2

(A) amﬂa&ﬁmazﬂq‘am' - (B) dhEwER
€) M ARH T FI T D) T A W
What are the challenges béfore political parties ?

(A) Absence of ihternal democracy |

(B) Familism

(C) Inflgcnce of money and criminal elements

(D) All of these
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9.  FERA IR cliwe w1 v 2 2

(&) s (B e § =R
©) _ﬁmﬁm%ﬁm . D) @i @ 1
> Which one of the following is a demerit of democracy ?
(A} Rule by the rich
(B) Individualism in parties
(C) Priority of the majority
(D) Allof the-se ' 1
10. U % AR s T 2
o(A) %"_pr (B) 3@\
) w=F (D) 3k 1
10. According to the constitution, which one is the official languégc of
India ? '
(A) Hindi (B) Urdu
(C) Sanskrit (D) English 1
11, SH-an T - ) e e % & 6 R R 2
() Tt (B) HWHR
(c) =t o | (D) weud 1
11. Which industry uses limestone as raw materials ?
(A) Aluminium | (B) | Cement
(C) Sugar (D) Jute 1
1o, & e SarE R 2
() 1991 B) 1989
C) 1995 (D) 1960 1
12. When did economic liberalization start in India ?
A) 1991 (B) 1989 1
(C) 1995 (D) 1960
[ Turn over
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13.

13.

14,

14.

15.

15.

16.

16.

ST Ievil AR Reew w8 o R 2
(4) 5 A B) 22 Hah
(C) 24 Ta . (D) 24 fEE 1

When is National Consumer Rights Day celebrated ?
(A) 5th April ' (B) 22nd February
(C) 24th November (D) 24th December 1

o 3Twh forg s 1 gy R 2

(A) Teltetor I - (B) aTE

(C) & 4D ST A 1
What type of resource is iron ore ?

(A) Renewable -' | I[B] Flow

{C). Biotic (D) Non-renewable . . 1

ﬁm%rﬁgaﬁﬁﬁq—mmﬁﬁmg@m%?

{A) T WeW (B) I W
(C) dfierTg - Dy feEwm o 1
Which of the following states is the major producer of copper ?
(A) Madhya Pradesh (B)  Uttar Pradesh
(C) Tamil Nadu " (D) Bihar | 1
freafafias & @ wR-w1 i srfeaen ¥ i 89 @ geftm R 2
'(A)  AGHT (B) e
(C) e (D) =N 1
Who among the following persons is related to the primary sector of the
economy ?
(A) Fisherman (B) Teacher
(C) Postman (D) Businessman 1
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17.

17.

18.

18.

- 19.

19.

20.

. 20,

7 825(JB)

meaﬁiﬁﬂqﬁmﬁmwjg

s(A) 20

(A) 05 (B) 2010

C) 1

(C) 1999 (D) 2001 | L
w &

hen was the R1_ght to Information Act implemented ?
(A) 2005 (B) 2010
(€) 1999 (D) 2001 | 1

| ﬁﬁ%ﬁgaﬁ%%amﬁmm@amm@a%?
¥(A) A e «(B) AW

(©) fPeH s (D) Swumve 1

In which of the following states Bandhavgarh national park is located ?

(A) Madhya Pradesh ' (B) Rajasthan

(C) West Bengal | ' (D) Uttarakhand 1
FTE & Gt % T ffafaa § @ @9-4 g swge 2 2

() @ B) W fg -
() wERE D) g R I
Whi&h one of ti'le following soils is suitable for cotton cultivation ?

(A) Red soil ,' ‘ (B) Laterite soil

(C) Black soil (D)  Alluvial soil 1

e 3§ 3 o rd 3w o 4 8 o g o 2
A 1970 vB) 1969

(D) 1967 R
©) 1979

hich of the following years was the Bangladesh Grameen Bank
In whic

started ?
n 1970 (B) 1969
(C) 1979 (D) 1967 :

[ Turn over
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Uz - §
PART - B
( qUATHSE - 1)

( Descriptive - I')
( 7t el % STR vk T 80 YT H Al )

( Write answers of the following questions in about 80 words each. )

1. 37 Ugcayl sieht 1 3g@ Hifw feh sror 09 § TgaTg H 3T gAT 4
Y
o JTTEANT ITRITH & YHE BV 1 & ? 4
1. Mention the important factors that led to the rise of nationalism in
Europe. - | 4
OR
What were the main causes of the non-cooperation movement ? 4
2. . GUATE % 1 T & ? | | 4
HYAT
TEE-YA TLHR ¥ 3T T G @ ? | 4
2. What is the meaning of federalism ? 4
OR
What do you understand by coalitibn governmeni ? 4
3. fydef SR ¥ 9w w8 2 WA & freeh =mn Rl @ kivarat ®
ELEHY : 1+3
woran .
e nfafafy A ama @ wwe ¥ 2 aniies nfufafirl 1 e wega S
| 2+2
3. What do you understand by foreign trade ? State any two characteristics
of foreign trade of India. | 1+3
OR

What do you mean by economic activity ? Present a classification of
economic activities. o 2+2
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- How has technology and economic development led to over-consumption
of resources ? ' o | 4
| OR
- Discuss the relative advantages of road transport in India. | 4
C(avTE - )

( Descriptive - II ) |
(ﬁﬁqlﬂFﬁﬁFEHTﬂahﬁﬁﬂﬂFrISOQEﬂWﬁéﬁ?Qi)

"~ ( Write answers of the following questions in about 150 words each. }

5. aﬁa“#ﬁsﬁﬁﬁréaaaraﬂunéi? - | | | 6

ﬁmﬁidﬁ:ﬁﬁsmm@n%F1éaﬂqi§am;ﬁ$Taﬂawrﬁhmm1%'9 zmaunzﬁéiﬁhﬁEQi 6

5. What were the reasons of the French Revolution ? 6
OR )

What is the contribution of technology in the development of the world

economy ? Write with examples. | 6

6. W " H 5T T 1 A0 A 6

, aifa T > wid o § wR R g R 6

6. DeScribe the Centre-State relations in the Indian Union. ' 6

OR
What is casteism ? What is its role in Indian democracy ? ' ;'
N a@guwﬁm%ﬁa%ﬁﬁwmmﬁ@@ﬁmg' mEnT

mﬁﬁ‘ll

| e .
| —— yﬁﬁgﬁuzniiaﬂﬁasfhmn:ﬁﬁﬁﬁﬁfﬂﬂifﬁI““diﬁﬁ?qg | °
‘ ’ -
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| : ocess of different
‘Multinational companics link the production pr

[ 3 { ) t‘
countries to cach other.” Explain this statemen

OR
Explain the means of creating more employment in the Indian economy.6
8. WRA W T T TR F IUE G| 6
i T vt e i faive SN O arETSa A B AT B R
T{ Y&t 'ST%NI 2+ 4
8. Suggest measures for the conservation of w11d11fe in India. 6
OR '
Distingﬁish between organised and un-organised sectors and throw light
on the problems of the workers of unorganised sectof. 2+ 4
( AT W U9 )

' ( Map Related Questions )
ﬁ%ﬂ : Wﬁwg.(A)ﬁmg(Byﬁm%ﬁﬁﬁéﬁﬁ%|
Instruction : Question Nos. 9(A) and 9(B) aré related to map.
o). e w3 st % 21 Yar e © o 0 -t ey
A T S % w1, L s fuife ¥

i) agquyfwﬁmwmqmgmﬁm

141
i) TR TH TE A, e e B ;j
iii) azwmaﬁmz?ﬁ#rhawa?ﬁﬁmgww ;j
iv) ﬂ'maﬁmmmww j+j
vl RS R - e gan) 12:
%3
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JA). In the given outline map of India, locate the following places by
the symbol ® with names, For correct mention of name and marking of

location }, 3 marks have been allotted.

1 The place where the resolution demanding complete independence
was passed. % i %

1) The place where Anand Bhavan is situated. 7+ ?

ii) The place where the Congress session was held in 1927. % + %

1v) The place where salt was first made. % * %

v) The district where the Chauri-Chaura incident took place. % + %

9(B)., Frdw - A T wrm ¥ wrfem # P ) zige ;-
i) WWW@WWY%ng%m
iy HIRI I OeY w1 s v O fig g 9w afal
Al TSR 1 T TR () fag gra m afea
A9 <l wRa i w9l > g g am atia)
&~ 9 Iaed % fedt & [ fag g am wle

9(B). Instruction : Show the following on the given map of India :

-+

+

b

M= p|— M= Pl (YN
+ -+ o+
M= Ml M N [N

1) One million city of Uttar Pradesh with name by symbol Y . 1+
1i) Largest producer of coffee with the name of state and symbol &

141

- 22

i) The capital city of Rajasthan by symbol (® with name, 141

iv)  One river of South India by symbol >~ with name. 144

" V) Any tea producmg area by symbol E] with name. % + %

(mq&aﬁﬁwﬁmﬁm}%%&mﬁam%ﬁm%mﬁ)

{ Only for visually impaired examinees in lieu of Map work )
fraw ﬁmﬁ%ﬂmﬁ%maﬁmgﬁﬁrﬁﬁ#@mmﬁammq
il . .
mwmwwaﬁrnﬁmmﬁm&qﬂm? 1

O(A).

1) P W W R W fR 2 2 :
H)) %melgﬁ'rﬁmwmﬁ?ﬁﬁﬂﬁmm? 1
111

gayyw FHS s T 7P
iv] mmm =T AT P L
‘['?FH [ Turn over
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9(A). Instruction : Write the answers of the following questions-in your

i)
ifi)

1v)
9(B). W

1)
i)

iii)

iv)

v)

answer-book. Do not use map.

At which place the resolution demanding complete independence

was passed ? - R
Where is Anand Bhavan located ? !
Where was the congress session held in 1927 ? 1
Where was salt first made ? | 1

In which district did the Chauri-Chaura incident take place ? 1
: Pt st % S ol sw-gfemn § fafew) aRE & oS A
i

TR F T qHendl T H am Ry | 1

HH! % HaY 92 IEH TT H 97 R 1
USTEM o (U 7R =7 99 fofew) | 1
< e R o e - I
I IATEA & fordlt W &7 %1 A Rl 1

9(B). Instruction : ‘Write answers of the following questions in your

answer-book. Do not use the map.

Write the name of onl'e million city of this state. 1
| Write the name of state which is the largest producer of coffee, 1
Write the name of the capital city of Rajasthan. 1
Write the name of one river of South India. 1
Write the name of a tea.producing area. 1

s ——————
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